
Сложение и вычитание 
десятичных дробей



Решить № 369
и проверь себя!

 



№ 369(д-з)
д)   24,200
        0,867

е) 830,0000
        0,0097

ж) 0,0200
     0,0156

з) 0,00300
    0,00089

+
25,067

829,9903

0,0044

0,0021
1



№ 369(и-м)
и)   1,000
      0,999

к) 425,000
        2,647

л) 83,000
     82,877

м) 37,20
       0,03

0,001

422,353

0,123

37,17



Реши номер№ 374
 и проверь себя! 



№ 374

 5)6,8+2,6+9,1+7,8+4,1 = 30,4 (м) 
                                – длина  верёвки

 1)7,8 – 3,7 = 4,1 (м) – 5 кусок 
 2)7,8 + 1,3 = 9,1 (м) – 3 кусок
 3)9,1 - 2,3 = 6,8 (м) – 1 кусок
 4)6,8 – 4,2 = 2,6 (м) – 2 кусок

 Ответ: 30,4 м


